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1) Which of the following properties is not satisfied by the set of integers?   [D] 

 A) closure under addition    B) closure under subtraction  

 C) associativity under multiplication  D) commutativity under division  

Sol: 𝑎 ÷ 𝑏 ≠ 𝑏 ÷ 𝑎  

⇒ commutativity under division is not satisfied by the set of integers  

2) A book has 240 pages. Sarah has read 
𝟐

𝟓
 part of the book. How many pages are left for her to read?  

            [C] 

 A) 48   B) 96   C) 144   D) 150  

𝑺𝒐𝒍: 𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑝𝑎𝑔𝑒𝑠 𝑠𝑎𝑟𝑎ℎ 𝑟𝑒𝑎𝑑 𝑡ℎ𝑒 𝑏𝑜𝑜𝑘 =
2

5
× 240 = 2 × 48 = 96 

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑙𝑒𝑓𝑡 𝑝𝑎𝑔𝑒𝑠 = 240 − 96 = 144 

3) The cost of one litre of petrol is Rs. 108.06. What is the total cost of 1000 litres of petrol?  

 A) Rs.10806000  B) Rs.108.060  C) Rs.108060  D) Rs.10806  [C] 

𝑺𝒐𝒍: 𝐶𝑜𝑠𝑡 𝑜𝑓 1000 𝑙𝑖𝑡𝑟𝑒𝑠 𝑜𝑓 𝑝𝑒𝑡𝑟𝑜𝑙𝑒 = 𝐑𝐬. 𝟏𝟎𝟖. 𝟎𝟔 × 1000 = 𝐑𝐬. 𝟏𝟎𝟖𝟎𝟔𝟎 

4) Rahul has 𝟒
𝟏

𝟐
 litres of paint and wishes to transfer it into smaller bottles, each with a capacity of 

𝟑

𝟒
litres. How many bottles will he need?       [D] 

 A) 2   B) 3    C) 5    D)6 

𝑺𝒐𝒍: 𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑏𝑜𝑡𝑡𝑙𝑒𝑠 = 4
1

2
÷

3

4
=

9

2
÷

3

4
=

9

2
×

4

3
= 3 × 2 = 6 

5) If x = -2 and y = 4, what do you get if the sum of x and y is subtracted from their product?   

 A) - 10    B)-6   C) 6   D)10   [A] 

𝑺𝒐𝒍: 𝑥𝑦 − (𝑥 + 𝑦) 

= (−2) × 4 − (−2 + 4) 

= −8 − 2 

= −10 

6)  During the winter season, the temperature at night drops below freezing point. One night, the 

temperature at 8 PM was -2°C. If the temperature decreases by 1 °C every hour, what will be the 

temperature at midnight? 

 A) 6°C    B) 3 °C  C) - 3°C   D) - 6°C  [D] 
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7)  In a box, there are 100 chocolates. Rahul takes 
𝟐

𝟓
 of the chocolates, and Anjali takes 

𝟐

𝟑
of the 

remaining chocolates. Which of the following statement is true?    [C] 

A) Rahul got more chocolates than Anjali.   B) Anjali got more chocolates than Rahul 

C) Rahul and Anjali got an equal number of chocolates. D) Rahul got two chocolates less than Anjali. 

𝑆𝑜𝑙: 𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑐ℎ𝑜𝑐𝑜𝑙𝑎𝑡𝑒𝑠 𝑅𝑎ℎ𝑢𝑙 𝑡𝑎𝑘𝑒𝑠 =
2

5
× 100 = 2 × 20 = 40 

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑟𝑒𝑚𝑎𝑖𝑛𝑖𝑛𝑔 𝑐ℎ𝑜𝑐𝑜𝑙𝑎𝑡𝑒𝑠 = 100 − 40 = 60 

𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑐ℎ𝑜𝑐𝑜𝑙𝑎𝑡𝑒𝑠 𝐴𝑛𝑗𝑎𝑙𝑖 𝑡𝑎𝑘𝑒𝑠 =
2

3
× 60 = 2 × 20 = 40 

 

8) Find the missing value in the equation: 

(−𝟐𝟔𝟕) − (−𝟐𝟕𝟔) − 𝟏𝟓 =_________ + (−𝟐) + (−𝟏)     [C] 

  A)27  B) 9  C) - 3   D) – 12 

𝑺𝒐𝒍: (−267) − (−276) − 15 = + (−2) + (−1) 

−267 + 276 − 15 =_________ + (−3) 

−282 + 276 =_________ + (−3) 

−6 =  (−3) + (−3) 

9)   

 

Carefully look at the above number line. Select the correct option that indicates the mathematical 

operation performed on the number line      [C] 

 A) 2 − (−2)   B) 2 + ( − 2)   C) 2 +  (−4)   D) 2 − (−4) 

 

10)  Which of the following expressions is NOT equal to zero?    [D] 

 A) (3 ×  0)  + 0  B) (0 × 3) −  0  C) (3 −  0)  ×  0  D) (0 −  3)  +  0 

𝑆𝑜𝑙: (0 −  3) +  0 = −3 ≠ 0 
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Section B: Answer the following questions in your answer sheets 

11) Using the distributive property, find the value of 25 multiplied by 101 

Sol: Distributive property: 𝑎 × (𝑏 + 𝑐) = 𝑎 × 𝑏 + 𝑎 × 𝑐 

25 × 101 = 25 × (100 + 1) 

= 25 × 100 + 25 × 1 

= 2500 + 25 

= 2525 

12) A carpenter has to make table legs out of a 75 feet long wooden piece. Each table has four legs, and 

2.5 feet long piece is required for each leg. How many tables can the carpenter make the legs for, 

from the wooden piece, and how much wood will be left over? 

Sol: Available wooden piece=75 feet 

Length of wooden piece required for on leg = 2.5 feet  

Length of wooden piece required for four legs = 4×2.5 feet =10 feet 

Number tables can be made with four legs = 75feet ÷ 10 = 7 tables legs and 5 feet left  

13) Find the average of 4.2, 3.7, 6.5 and 5.2. Show your steps 

𝑺𝒐𝒍: 𝐴𝑣𝑒𝑟𝑎𝑔𝑒 =
𝑆𝑢𝑚 𝑜𝑓 𝑜𝑏𝑠𝑒𝑟𝑣𝑒𝑡𝑖𝑜𝑛𝑠

𝑁𝑢𝑚𝑏𝑟 𝑜𝑓 𝑜𝑏𝑠𝑒𝑟𝑣𝑎𝑡𝑖𝑛𝑠
 

=
4.2 + 3.7 + 6.5 + 5.2

4
 

=
19.6

4
 

= 4.9 

14) What number should 37.8 be divided by, to obtain a quotient of 1.4? Show your steps. 

𝑺𝒐𝒍: 
37.8

𝑥
= 1.4 

𝑥 × 1.4 = 37.8 

𝑥 =
37.8

1.4
=

378

14
= 27 

 Required number=27 
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15) An exam has a scoring system that awards +3 marks for each correct answer, and - 2 marks for 

each incorrect answer. Anuj scored 18 marks and answered 8 questions correctly. How many 

questions did Anuj answer incorrectly? Show your steps. 

Sol: Marks given for correct answer=+3 

Marks given for incorrect answer=-2 

Marks for 8 correct questions=8×3=24 

Anju total score=18 

Anju marks for incorrect answers=18 − 24 = −6 

∴  𝑁𝑢𝑚𝑏𝑒𝑟 𝑜𝑓 𝑞𝑢𝑒𝑠𝑡𝑖𝑜𝑛𝑠 𝐴𝑛𝑢𝑗 𝑎𝑛𝑠𝑤𝑒𝑟𝑒𝑑 𝑖𝑛𝑐𝑜𝑟𝑟𝑒𝑐𝑡𝑙𝑦 =
−6

−2
= 3 
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